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1. Which of the following statement is incorrect?
A. A distribution has zero skewness if it is symmetrical about its mean.
B. For a symmetrical distribution, the mean, median, and mode are equal.
C. A distribution is positively skewed (skew to the right) if the right tail is longer,
D. A distribution is negatively skewed (skew to the left) if mean > median > mode.
2.____. Anation faces a rate of inflation of 2% in one year, 5% in the second year, and
12.5% in the third year. Find the geometric mean of the inflation rates,
A 5%
B. 6.5%
C. 11.18%
D. 6.45%
3.____. Consider the regression equation: ¥ =8+ Byx+ Bx?, which of the
following statements regarding this equation is incorrect:
A. When B>0 and B,<0, the equation implies a diminishing marginal effect of x on y.
B. The statement that x has a diminishing marginal effect on y is the same as saying
that y decreases as x increases,
C. The slope of the regression is approximately B,+2f,x
D. The maximum of the function occurs at the point x* = 8,/(-28;)
A.

4, . Which of the following statements about the expected value is NOT correct;
if {1, az, ... a,} are constants and X; are random variables, then E(TL, a;X;) =
21 aE(X)

B. IFE(X) =2 2/ (%) , then Ellog(X)]1= Z1-, log(x,)f (x;)

O

If Xy, ...X, are n random variables such that each expectation E(X;) exists, then
E(X} X2 -Xj...Xn)ﬁE(Xr)E(XZ)...E(X;)

jw,

. E(X?) will not necessarily equal to (B0
5. - For a random variable X, let = E(X), then
Var(X) =[E(X - u)]*

|

For any constant a and b, Var(aX+b) = 2* Var(X) + b

o w »

Var(X) = EC3)- E(X)?

- Var(X) =X, () f (x) —u?
Var(Zl, a;X;) = 3% a;%ar(X)
6. . LetEX)=u, E(Y)= #y, which of the following statements regarding the
covariance between X and Y are incorrect?
A. Cov(X, Y) =E(XY) - Uty
B. Cov(X, Y)=E[(X —u)Y]
C. If Cov(X,Y) =0, then X and Y are independent.
D. Cov(X,Y)= E[(X-1)(Y-uy)]
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7. . Which of the following properties regarding conditional expectations and
conditional variance is incorrect?

A, If X and Y are independent, the E(Y[X) = E(Y)

B. E[E(Y{X)] #E(Y)

C. If X and Y are independent, then Var(Y[X) = Var(Y)

D. ITE(YIX) = E(Y), then every function of X is uncorrelated with Y

__ Given a very simple random sample {¥1,Y2,..., ¥»} drawn from a population

distribution with population mean E(Y) = u and variance Var(Y)= ¢ 2, which of the
following is incorrect:

A E(Yy)=u

B. Var(Yy)= o’

- 2
C. Var(F)=¢ / "

D. BB, (% - D)= o’
9. .Consider the simple regression equation: y = 5 + f,x + e, which of the
following statements is correct:

A, ifthe dependent variable is multiplied by a constant ¢, then the new OLS intercept

is also multiplied by c.
if the mdependent variable is divided by some nonzero constant ¢, the new OLS

slope coefficient is divided by c.
if the dependent variable is multiplied by a constant ¢, then the new OLS slope
estimate will not change,

D. ali of the above.
10. . Suppose the true regression model is:
Wage= fy + f,(education) + f,(ability) + e, but we do not have information about
“ability”. We estimates the following model instead: Wage= f, + £, (education) + ¢
If “education™ has a positive effect on wage and “education” and “abifity” is positively
correlated, then

A B> By

B. 5,=8;

C. Bi<py

D, It cannot be decided
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